Stars key II 4C-end

Session 4C:  Applying your ideas (Pages 57-58)

6. Since there is a node at the nucleus, there is zero probability of finding an electron there.

7. 1s

8. (b) is incorrect because l and n both are 3. (c) is incorrect because m is larger than l.

9. 
(a) 1s and 2s are filled, two 2p orbitals each have one arrow with the head in the same direction.


(b) 1s and 2s are filled, three 2p orbitals each have one arrow with the head in the same direction.


(c) filled up to 3d.  One 3d orbital is filled.  The four other 3ds each have one electron with the head in the same direction.

10. n=2, l=1, m=0, ms = ½

11. (a) 1
(b) 8
(c) 10 

Session 4D: Applying your ideas (Pages 62-64)
17.

18.  Dark lines are caused by absorption of gases in stellar atmosphere.

19.  Energy levels are quantized.

20. No, discrete wavelengths like every other element.

21. 
(a) Zinc sulfide reflects all visible light.


(b) Light absorbed must be higher in energy than light emitted.

Session 4E: Applying your ideas (Page 71)

8. 
Be to B: IE decreases from Be to B because the 2p electron is better shielded by inner electrons and easier to remove.  

B to C to N: IE increases as we add electrons to the p shell and increase Zeff.

N to O: IE decreases slightly because of electron-electron repulsion destabilizing.

O to F to Ne: as B to C to N.

9. Down a column, atomic radii increases as electrons are added to shells increasingly far from the nucleus.  Across a column, radii decreases because the distance from the nucleus stays roughly the same as Zeff increases, increasing pull on the electrons and decreasing distance.

10. 
(a) Left, lower corner are most metallic.

(b) Most metallic have lowest work function

11. Upper right side have least metallic character.

12. Cations, they lose electrons.

Session 4: Checking your progress (Page 72-73)

1. 

Wavelength (nm)
Assignment
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3. Incandescent bulbs are blackbody radiators while atomic emission (mercury) is the illumination source of a fluorescent bulb.  The former is like the overall shape of a stellar spectrum while the latter illustrates the fine features.

